Preliminaries for Asymptotic Safety

Alejandro Soto Posada

くほと くほと くほと

Introduction

- Overview of the Effective Field Theories
- Coarse Graining Procedure
- The Renormalization Group

2 Exact Renormalization Group Equation



Notation

• For Simplicity we are going to work in the *d*-dimensional Euclidean 'spacetime' \mathbb{R}^d .

通 ト イヨ ト イヨト

Notation

- For Simplicity we are going to work in the *d*-dimensional Euclidean 'spacetime' \mathbb{R}^d .
- The Fourier transform is defined as

$$f(x) = \int \frac{d^d p}{(2\pi)^d} f(p) e^{-ipx}, \quad f(p) = \int d^d x f(p) e^{ipx}$$

A B F A B F

Notation

- For Simplicity we are going to work in the *d*-dimensional Euclidean 'spacetime' \mathbb{R}^d .
- The Fourier transform is defined as

$$f(x) = \int \frac{d^d p}{(2\pi)^d} f(p) e^{-ipx}, \quad f(p) = \int d^d x f(p) e^{ipx}$$

• The classical fields are labeled with a c

$$\phi \rightarrow \phi_c$$

글 > - + 글 >

Effective Field Theories

• Coarse Graining Procedure.

3

(本部)と 本語 と 本語を

Effective Field Theories

- Coarse Graining Procedure.
- The Renormalization Group.

Effective Field Theories

- Coarse Graining Procedure.
- The Renormalization Group.
- Exact Renormalization Group Equation.

- ∢ ∃ ▶

Coarse Graining Procedure

Consider, for simplicity the scalar case. We want to calculate the spectation values of the observables of the theory, let say

$$\langle \mathcal{O} \rangle = \int \Pi_k \mathcal{D} \phi_k \mathcal{O}(\phi) e^{-S}$$
 (1)

This quantities are infinite.

글 > - + 글 >

Coarse Graining Procedure

Consider, for simplicity the scalar case. We want to calculate the spectation values of the observables of the theory, let say

$$\langle \mathcal{O} \rangle = \int \Pi_k \mathcal{D} \phi_k \mathcal{O}(\phi) e^{-S}$$
 (1)

This quantities are infinite. Renormalization is the solution. Consider a cutoff Λ , then (1) becomes

$$\langle \mathcal{O} \rangle = \int \Pi_{k \le \Lambda} \mathcal{D} \phi_k \mathcal{O}_{\Lambda}(\phi) e^{-S_{\Lambda}}$$
(2)

The degrees of freedom with momentum greater than Λ are integrated out.

But If we change the cutoff, $\Lambda\to\Lambda-\delta\Lambda,$ the results must be the same. that is

3

イロト イポト イヨト イヨト

But If we change the cutoff, $\Lambda\to\Lambda-\delta\Lambda,$ the results must be the same. that is

$$\int \Pi_{k \leq \Lambda} \mathcal{D}\phi_k \mathcal{O}_{\Lambda}(\phi) e^{-S_{\Lambda}} = \int \Pi_{k \leq \Lambda - \delta \Lambda} \mathcal{D}\phi_k \mathcal{O}_{\Lambda - \delta \Lambda}(\phi) e^{-S_{\Lambda - \delta \Lambda}}$$
(3)

э

イロト イポト イヨト イヨト

But If we change the cutoff, $\Lambda\to\Lambda-\delta\Lambda,$ the results must be the same. that is

$$\int \Pi_{k \leq \Lambda} \mathcal{D}\phi_k \mathcal{O}_{\Lambda}(\phi) e^{-S_{\Lambda}} = \int \Pi_{k \leq \Lambda - \delta \Lambda} \mathcal{D}\phi_k \mathcal{O}_{\Lambda - \delta \Lambda}(\phi) e^{-S_{\Lambda - \delta \Lambda}}$$
(3)

Therefore, for each change in the cutoff, the explit form of the action and the observable changes. If we fix

$$\langle \mathcal{O} \rangle = 1$$
 (4)

from some experiment, then we can know how the action and the observable are in a lower momentum scale. This procedure is called the *Coarse Graining*.

In general, we don't know how the action is going to change.

The Effective Action

We define the genarating functional of the connected Green's functions as

$$e^{-W} = \int \mathcal{D}\phi e^{-S + \int d^d x J \phi}, \tag{5}$$

The Effective Action

We define the genarating functional of the connected Green's functions as

$$e^{-W} = \int \mathcal{D}\phi e^{-S + \int d^d \times J\phi},\tag{5}$$

the classical field

$$\phi_c(x) = \frac{\delta W}{\delta J(x)} \tag{6}$$

The Effective Action

We define the genarating functional of the connected Green's functions as

$$e^{-W} = \int \mathcal{D}\phi e^{-S + \int d^d \times J\phi},\tag{5}$$

the classical field

$$\phi_c(x) = \frac{\delta W}{\delta J(x)} \tag{6}$$

(日) (周) (三) (三)

and the effective action

$$\Gamma = W - \int d^d x \phi_c(x) J(x) \tag{7}$$

which is the generating functional of the 1PI Green's functions.

Momentum Dependence

We want to integrate out degrees of freedom with momentum greater than a cuttof Λ . For notation the cutoff from now is k. Therefore our effective action depend on k

$$\Gamma \to \Gamma_k$$

The way in which the action change with the scale is governed by the renormalization group. If we want a general expression for the action at any sacale, we have to consider an action, in principle, with infinite coupling constants.

Renormalization Group

Consider an effective field theory with a configuration space \mathcal{F} . Let \mathcal{Q} an infinite smooth manifold, with local coordinates (g_i) and \mathbb{R}^+ the positive real line parametrizing the momentum scale. The effective action is defined as

$$\Gamma: \mathcal{F} \times \mathcal{Q} \times \mathbb{R}^+ \longrightarrow \mathbb{C} \tag{9}$$

Renormalization Group

Consider an effective field theory with a configuration space \mathcal{F} . Let \mathcal{Q} an infinite smooth manifold, with local coordinates (g_i) and \mathbb{R}^+ the positive real line parametrizing the momentum scale. The effective action is defined as

$$\Gamma: \mathcal{F} \times \mathcal{Q} \times \mathbb{R}^+ \longrightarrow \mathbb{C}$$
(9)

- 4 緑 ト - 4 三 ト - 4 三 ト

In the scalar case

$$\Gamma[\phi, g_i, k] := \Gamma_k[\phi, g_i]$$

Remark: $\mathcal{F} \times \mathcal{Q} \times \mathbb{R}^+$ is the space of all theories, the Theory Space.

What means infinite coupling constants?

Infinite coupling constants, is just a way to write the most general effective action at any scale, for exameple if we have

$$\mathcal{L}_k = \frac{Z_\phi}{2} (\partial \phi)^2 + \frac{1}{2} g_1^2 \phi^2 \tag{10}$$

What means infinite coupling constants?

Infinite coupling constants, is just a way to write the most general effective action at any scale, for exameple if we have

$$\mathcal{L}_{k} = \frac{Z_{\phi}}{2} (\partial \phi)^{2} + \frac{1}{2} g_{1}^{2} \phi^{2}$$
(10)

at k' we can have

$$\mathcal{L}_{k'} = \frac{Z_{\phi}}{2} (\partial \phi)^2 + \frac{1}{2} g_1 \phi^2 + \frac{1}{4!} g_2 \phi^4 \tag{11}$$

What means infinite coupling constants?

Infinite coupling constants, is just a way to write the most general effective action at any scale, for exameple if we have

$$\mathcal{L}_{k} = \frac{Z_{\phi}}{2} (\partial \phi)^{2} + \frac{1}{2} g_{1}^{2} \phi^{2}$$
(10)

at k' we can have

$$\mathcal{L}_{k'} = \frac{Z_{\phi}}{2} (\partial \phi)^2 + \frac{1}{2} g_1 \phi^2 + \frac{1}{4!} g_2 \phi^4 \tag{11}$$

hence, we can think in a general expresion like

$$\mathcal{L}_{k} = \frac{Z_{\phi}}{2} (\partial \phi)^{2} + \sum_{i=1}^{\infty} g_{i}(k) \phi^{i}$$
(12)

Which are the essential coupling constants?

A natural question: These infinite coupling constants are independent of field redefinitions? The answer is not. The coupling constants is split in two sets, one for these which can be absorbed by a field redefinition, the other for its complement. These are called inessential and essential.

Which are the essential coupling constants?

A natural question: These infinite coupling constants are independent of field redefinitions? The answer is not. The coupling constants is split in two sets, one for these which can be absorbed by a field redefinition, the other for its complement. These are called inessential and essential. The theory is invariant under \mathcal{G} , coordinate transformations of \mathcal{F} , (redefinition of the fields).

$$\phi \rightarrow \phi'(\phi)$$

Which are the essential coupling constants?

A natural question: These infinite coupling constants are independent of field redefinitions? The answer is not. The coupling constants is split in two sets, one for these which can be absorbed by a field redefinition, the other for its complement. These are called inessential and essential. The theory is invariant under \mathcal{G} , coordinate transformations of \mathcal{F} , (redefinition of the fields).

$$\phi \rightarrow \phi'(\phi)$$

For this transformation we can find new coupling constants g'_i such that

$$\Gamma_k[\phi'(\phi), g_i] = \Gamma_k[\phi, g'_i]$$
(13)

This is a local action of \mathcal{G} on \mathcal{Q} .

We split the coupling constants

$$\{g_i\} = \{g_{\widehat{\imath}}\} \cup \{g_{\overline{\imath}}\}$$

where $\{g_{\overline{i}}\}\$ are invariant under \mathcal{G} , and $\{g_{\widehat{i}}\}\$ transform non trivially. We said that $\{g_{\widehat{i}}\}\$ and $\{g_{\overline{i}}\}\$ are local coordinates of the stable and unstable manifold respectivelly.

We split the coupling constants

$$\{g_i\} = \{g_{\hat{\imath}}\} \cup \{g_{\bar{\imath}}\}$$

where $\{g_{\overline{i}}\}\$ are invariant under \mathcal{G} , and $\{g_{\widehat{i}}\}\$ transform non trivially. We said that $\{g_{\widehat{i}}\}\$ and $\{g_{\overline{i}}\}\$ are local coordinates of the stable and unstable manifold respectivelly.

We also have invarianza under rescaling, i.e.

$$\Gamma_{bk}[b^{d_{\phi}}(\phi), b^{d_{i}}g_{i}] = \Gamma_{k}[\phi, g_{i}]$$
(14)

where $b \in \mathbb{R}^+$, d_{ϕ} and d_i are the canonical dimension of ϕ and g_i .

Expansion of the Effective Action

The most general form of the effective action is

$$\Gamma_k[\phi, g_i] = \sum_i g_i(k) \mathcal{P}_i(\phi)$$
(15)

where \mathcal{P} are polynomials in the $\phi's$.

Expansion of the Effective Action

The most general form of the effective action is

$$\Gamma_k[\phi, g_i] = \sum_i g_i(k) \mathcal{P}_i(\phi)$$
(15)

where \mathcal{P} are polynomials in the $\phi's$.

The evolution of this action is governed by the beta functions

$$k\frac{\partial}{\partial k}\Gamma_{k} = \sum_{i}\beta_{i}(k)\mathcal{P}_{i}(\phi)$$
(16)

Expansion of the Effective Action

The most general form of the effective action is

$$\Gamma_k[\phi, g_i] = \sum_i g_i(k) \mathcal{P}_i(\phi)$$
(15)

where \mathcal{P} are polynomials in the $\phi's$.

The evolution of this action is governed by the beta functions

$$k\frac{\partial}{\partial k}\Gamma_{k} = \sum_{i}\beta_{i}(k)\mathcal{P}_{i}(\phi)$$
(16)

If we want to know how is the behaviour of the theory at any scale, we have to solve for infinite beta functions.

The *k*-dependence in the effective action can be put in the following way

$$e^{-W_k} = \int \mathcal{D}\phi e^{-S - \Delta_k S + \int d^d x J \phi}$$
(17)

The *k*-dependence in the effective action can be put in the following way

$$e^{-W_k} = \int \mathcal{D}\phi e^{-S - \Delta_k S + \int d^d x J \phi}$$
(17)

$$\tilde{\Gamma}_{k} = W_{k} - \int d^{d}x \phi_{c}(x) J(x)$$
(18)

(日) (周) (三) (三)

The *k*-dependence in the effective action can be put in the following way

$$e^{-W_k} = \int \mathcal{D}\phi e^{-S - \Delta_k S + \int d^d x J \phi}$$
(17)

$$\tilde{\Gamma}_k = W_k - \int d^d x \phi_c(x) J(x)$$
(18)

$$\Gamma_k = W_k - \int d^d x \phi_c(x) J(x) - \Delta_k S$$
(19)

(日) (周) (三) (三)

The *k*-dependence in the effective action can be put in the following way

$$e^{-W_k} = \int \mathcal{D}\phi e^{-S - \Delta_k S + \int d^d x J \phi}$$
(17)

$$\tilde{\Gamma}_{k} = W_{k} - \int d^{d}x \phi_{c}(x) J(x)$$
(18)

$$\Gamma_k = W_k - \int d^d x \phi_c(x) J(x) - \Delta_k S \qquad (19)$$

(日) (同) (三) (三)

where

$$\Delta_k S = \frac{1}{2} \int \frac{d^d x}{(2\pi)^d} \mathcal{R}_k(p^2) |\phi(p)|^2 = \frac{1}{2} \int d^d x \phi(x) \mathcal{R}_k(-\partial_x^2) \phi(x) \quad (20)$$

is the cutoff supressing the IR modes with $p^2 \ll k^2$.

We are just interested in the asymptotic behaviour of $\mathcal{R}_k(p^2)$,

$$\mathcal{R}_k(p^2) = \left\{ egin{array}{cc} k^2 & p^2 << k^2 \ 0 & p^2 >> k^2 \end{array}
ight.$$

(日) (同) (三) (三)

We are just interested in the asymptotic behaviour of $\mathcal{R}_k(p^2)$,

$$\mathcal{R}_k(p^2) = \left\{ egin{array}{cc} k^2 & p^2 << k^2 \ 0 & p^2 >> k^2 \end{array}
ight.$$

Two possible forms are

$$\mathcal{R}_k(p^2) = (k^2 - p^2)\theta(k^2 - p^2)$$

(日) (周) (三) (三)
We are just interested in the asymptotic behaviour of $\mathcal{R}_k(p^2)$,

$$\mathcal{R}_k(p^2) = \left\{ egin{array}{cc} k^2 & p^2 << k^2 \ 0 & p^2 >> k^2 \end{array}
ight.$$

Two possible forms are

$$\mathcal{R}_k(p^2) = (k^2 - p^2)\theta(k^2 - p^2)$$

 $\mathcal{R}_k(p^2) = \frac{p^2}{e^{p^2/k^2} - 1}$

(日) (周) (三) (三)

• Note that there is not a lattice background.

э

イロト イポト イヨト イヨト

- Note that there is not a lattice background.
- 2 This is in fact an effective action.

э

(日) (周) (三) (三)

- Note that there is not a lattice background.
- 2 This is in fact an effective action.
- A smooth or singular cutoff is a matter of convinience to simplify calculations.

- Note that there is not a lattice background.
- This is in fact an effective action.
- A smooth or singular cutoff is a matter of convinience to simplify calculations.
- The modification of the connected Green's functions is in the mass of the propagator.

Connected Green's Functions

In the Klein-Gordon case

$$S + \Delta_k S = rac{1}{2} \int rac{d^d p}{(2\pi)^d} \left(p^2 + m^2 + \mathcal{R}_k(p^2) \right) |\phi(p)|^2 + \dots$$

3

(日) (周) (三) (三)

Connected Green's Functions

In the Klein-Gordon case

$$S + \Delta_k S = rac{1}{2} \int rac{d^d p}{(2\pi)^d} \left(p^2 + m^2 + \mathcal{R}_k(p^2) \right) |\phi(p)|^2 + \dots$$

therefore the new propagator is

$$\frac{i}{p^2 + m^2 + \mathcal{R}_k(p^2)}$$

Hence W_k is the generating of the C.G.F.

Asymptotic action

We have two asymptotics limits for the action,

$$\lim_{k \to \infty} \Gamma_k, \quad \lim_{k \to 0} \Gamma_k \tag{21}$$

過 ト イヨ ト イヨト

Asymptotic action

We have two asymptotics limits for the action,

$$\lim_{k \to \infty} \Gamma_k, \quad \lim_{k \to 0} \Gamma_k \tag{21}$$

to know what these limits are, is convinient to write

$$e^{-\Gamma_{k}} = \int \mathcal{D}\phi e^{-S + \int d^{d}x(\phi - \phi_{c})\frac{\delta\Gamma_{k}}{\delta\phi_{c}}} e^{-\int d^{d}x(\phi - \phi_{c})\mathcal{R}_{k}(\phi - \phi_{c})}$$
(22)

If $k \to 0$, then $R_k(p^2) \to 0$, hence

Effective Action

$$\lim_{k \to 0} \Gamma_k = \lim_{k \to 0} \left(W_k - \int d^d x \phi_c(x) J(x) - \Delta_k S \right)$$
$$= W - \int d^d x \phi_c(x) J(x) = \Gamma$$

イロト イ団ト イヨト イヨト 二日

If $k \to 0$, then $R_k(p^2) \to 0$, hence

Effective Action

$$\lim_{k \to 0} \Gamma_k = \lim_{k \to 0} \left(W_k - \int d^d x \phi_c(x) J(x) - \Delta_k S \right)$$
$$= W - \int d^d x \phi_c(x) J(x) = \Gamma$$

for $k
ightarrow \infty$ we have $R_k(p^2)
ightarrow k^2$, then

$$e^{-\int d^d x(\phi-\phi_c)\mathcal{R}_k(\phi-\phi_c)} \rightarrow e^{-k^2\int d^d x(\phi-\phi_c)^2} \to \delta(\phi-\phi_c)$$

then we get from (22)

Bare Action

$$\lim_{k \to \infty} e^{-\Gamma_{k}} \rightarrow \int \mathcal{D}\phi \delta(\phi - \phi_{c}) e^{-S + \int d^{d}x(\phi - \phi_{c})\frac{\delta\Gamma_{k}}{\delta\phi_{c}}}$$
$$\rightarrow e^{-S}$$
$$\lim_{k \to \infty} \Gamma_{k} \rightarrow S$$

э

・ロン ・四 ・ ・ ヨン ・ ヨン

The action between these two limits is given by

$$k\frac{\partial\Gamma_{k}}{\partial k} = \sum_{i}\beta_{i}(k)\mathcal{P}_{i}(\phi)$$
(23)

<ロ> (日) (日) (日) (日) (日)

э

The action between these two limits is given by

$$k\frac{\partial\Gamma_{k}}{\partial k} = \sum_{i}\beta_{i}(k)\mathcal{P}_{i}(\phi)$$
(23)

the left hand side of this equation satisfy

Exact Renormalization Group Equation

$$k\frac{\partial\Gamma_{k}}{\partial k} = \frac{1}{2}Tr\left[\left(\Gamma_{k}^{2} + \mathcal{R}_{k}\right)^{-1}k\frac{\partial\mathcal{R}_{k}}{\partial k}\right]$$

where Γ_k^2 has the matrix elements

$$\Gamma_k^2(x,y) = \frac{\delta^2 \Gamma_k}{\delta \phi(x) \delta \phi(y)}$$

< 回 ト < 三 ト < 三 ト

(24)

and \mathcal{R}_k has the matrix elements

$$\mathcal{R}_k(x,y) = \mathcal{R}_k(-\partial_x^2)\delta(x-y)$$

3

ヘロト 人間 ト くほ ト くほ トー

and \mathcal{R}_k has the matrix elements

$$\mathcal{R}_k(x,y) = \mathcal{R}_k(-\partial_x^2)\delta(x-y)$$

and the trace of some function (matrix) F(x, y) is defined

$$Tr[F] = \int d^d x F(x,x)$$

3

イロト 不得 トイヨト イヨト

The equation which we want to solve to obtain the flow of the essential beta functions $\{\beta_{\overline{\imath}}\}$ is

$$\frac{1}{2}Tr\left[\left(\Gamma_{k}^{2}+\mathcal{R}_{k}\right)^{-1}k\frac{\partial\mathcal{R}_{k}}{\partial k}\right]=\sum_{i}\beta_{i}(k)\mathcal{P}_{i}(\phi)$$
(25)

Derivation of the ERGE

$$k\frac{\partial\tilde{\Gamma}_{k}}{\partial k} = k\frac{\partial W_{k}}{\partial k}$$

= $\frac{k}{2e^{-W_{k}}}\int \mathcal{D}\phi e^{-S-\Delta_{k}S+\int d^{d}x\phi J} \times$
 $\int d^{d}x d^{d}y \phi(x)\phi(y)\frac{\partial \mathcal{R}_{k}(-\partial_{x}^{2})}{\partial k}\delta(x-y)$
= $\frac{1}{2}\int d^{d}x d^{d}y \langle \phi(x)\phi(y)\rangle k\frac{\partial \mathcal{R}_{k}(x,y)}{\partial k}$

where

$$\langle \mathcal{N}
angle = rac{1}{e^{-W_k}}\int \mathcal{D}\phi \mathcal{N}e^{-S-\Delta_kS+\int d^dx\phi J}$$

3

・ロト ・ 日 ・ ・ ヨ ト ・ ヨ ト ・

The two-point Green function is

$$\begin{array}{lll} G_k(x,y) &=& \displaystyle \frac{\delta^2 W_k[J]}{\delta J(x) \delta J(y)} \\ &=& \displaystyle \langle \phi(x) \phi(y) \rangle - \langle \phi(x) \rangle \langle \phi(y) \rangle \end{array}$$

with this

$$k\frac{\partial\tilde{\Gamma}_{k}}{\partial k} = \frac{1}{2}\int d^{d}x d^{d}y G_{k}(x,y) k\frac{\partial\mathcal{R}_{k}(x,y)}{\partial k} + \frac{1}{2}\int d^{d}x d^{d}y \langle \phi(x)\rangle \langle \phi(y)\rangle k\frac{\partial\mathcal{R}_{k}(x,y)}{\partial k} \\ = \frac{1}{2}\int d^{d}x G_{k}(x,x) k\frac{\partial\mathcal{R}_{k}(-\partial_{x}^{2})}{\partial k} + \frac{1}{2}\int d^{d}x \phi_{c}(x) k\frac{\partial\mathcal{R}_{k}(-\partial_{x}^{2})}{\partial k} \phi_{c}(y)$$

æ

<ロ> (日) (日) (日) (日) (日)

$$k\frac{\partial\tilde{\Gamma}_{k}}{\partial k} = \frac{1}{2}Tr\left[G_{k}k\frac{\partial\mathcal{R}_{k}}{\partial k}\right] + \frac{1}{2}\int d^{d}x\phi_{c}(x)k\frac{\partial\mathcal{R}_{k}(-\partial_{x}^{2})}{\partial k}\phi_{c}(x)$$

hence
$$k\frac{\partial\Gamma_{k}}{\partial k} = \frac{1}{2}Tr\left[G_{k}k\frac{\partial\mathcal{R}_{k}}{\partial k}\right]$$
(26)
But
$$\int dzG_{k}(x,z)\tilde{\Gamma}_{k}^{2}(z,y) = \delta(x,y)$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

then

$$G_k = \left(\Gamma_k^2 + \mathcal{R}_k \right)^{-1}$$

finally we get

$$k\frac{\partial\Gamma_{k}}{\partial k} = \frac{1}{2}Tr\left[\left(\Gamma_{k}^{2} + \mathcal{R}_{k}\right)^{-1}k\frac{\partial\mathcal{R}_{k}}{\partial k}\right]$$

æ

イロト イヨト イヨト イヨト

Scalar Theory

Consider an effective action

$$\Gamma_k = \int d^d x \left(\frac{1}{2} (\partial \phi)^2 + V_k[\phi^2] \right)$$
(27)

then

$$\Gamma_k^2(x,y) = \left(-\partial_x^2 + 2V_k'[\phi^2] + 4\phi^2 V_k''[\phi^2]\right)\delta(x-y)$$

With a function $P(x) = x + \mathcal{R}(x)$ we have

$$\Gamma_k^2 + \mathcal{R}_k = P + 2V_k' + 4\phi^2 V_k''$$

3

< ロ > < 同 > < 回 > < 回 > < 回 > <

with $t = \log(k/k_0)$ for some fixed k_0

ERGE

$$\partial_t \Gamma_k = \frac{1}{2} \operatorname{Tr} \left(\frac{\partial_t P_k}{P_k + 2V'_k + 4\phi^2 V''_k} \right)$$

æ

・ロト ・ 日 ・ ・ ヨ ト ・ ヨ ト ・

In general, for a function $W(-\partial^2)$ we have

$$Tr(W(-\partial^2)) = \int d^d x \int \frac{d^d p}{(2\pi)^d} W(p^2) e^{p(x-y)} \Big|_{x=y}$$

3

・ロト ・聞ト ・ヨト ・ヨト

In general, for a function $W(-\partial^2)$ we have

$$Tr(W(-\partial^2)) = \int d^d x \int \frac{d^d p}{(2\pi)^d} W(p^2) e^{p(x-y)} \Big|_{x=y}$$
$$= \int d^d x \int \frac{d^d p}{(2\pi)^d} W(p^2)$$

3

・ロト ・聞ト ・ヨト ・ヨト

In general, for a function $W(-\partial^2)$ we have

$$Tr(W(-\partial^{2})) = \int d^{d}x \int \frac{d^{d}p}{(2\pi)^{d}} W(p^{2}) e^{p(x-y)} \Big|_{x=y}$$
$$= \int d^{d}x \int \frac{d^{d}p}{(2\pi)^{d}} W(p^{2})$$
$$= \int d^{d}x \int \frac{d\Omega dp_{r}}{(2\pi)^{d}} p_{r}^{d-1} W(p_{r}^{2})$$

with

$$\int d\Omega = \frac{2\pi^{d/2}}{\Gamma(d/2)}$$

æ

・ロト ・ 日 ・ ・ ヨ ト ・ ヨ ト ・

then we have

$$Tr(W(-\partial^2)) = A_d \int d^d x Q_{d/2}(W)$$
(28)

3

・ロト ・ 四ト ・ ヨト ・ ヨト

then we have

$$Tr(W(-\partial^2)) = A_d \int d^d x Q_{d/2}(W)$$
(28)

where

$$A_d = \frac{1}{(4\pi)^d}$$
$$Q_n(W) = \frac{1}{\Gamma(n)} \int_0^\infty dz z^{n-1} W(z)$$

æ

・ロト ・四ト ・ヨト ・ヨト

$$\partial_t V_k = \frac{1}{2} A_d Q_{d/2} \left(\frac{\partial_t P_k}{P_k + 2V'_k + 4\phi^2 V''_k} \right) \tag{29}$$

э

・ロト ・ 日 ト ・ ヨ ト ・ ヨ ト

$$\partial_t V_k = \frac{1}{2} A_d Q_{d/2} \left(\frac{\partial_t P_k}{P_k + 2V'_k + 4\phi^2 V''_k} \right) \tag{29}$$

we need en explicit form of V_k to solve this equation.

3

$$\partial_t V_k = \frac{1}{2} A_d Q_{d/2} \left(\frac{\partial_t P_k}{P_k + 2V'_k + 4\phi^2 V''_k} \right) \tag{29}$$

we need en explicit form of V_k to solve this equation. With \mathbb{Z}_2 symmetry we consider

$$V_k(\phi^2) = \sum_{n=1}^{\infty} \lambda_{2n} \phi^{2n} \tag{30}$$

- 4 目 ト - 4 日 ト - 4 日 ト

$$\partial_t V_k = \frac{1}{2} A_d Q_{d/2} \left(\frac{\partial_t P_k}{P_k + 2V'_k + 4\phi^2 V''_k} \right) \tag{29}$$

we need en explicit form of V_k to solve this equation. With \mathbb{Z}_2 symmetry we consider

$$V_k(\phi^2) = \sum_{n=1}^{\infty} \lambda_{2n} \phi^{2n} \tag{30}$$

- 4 同 6 4 日 6 4 日 6

where

$$\lambda_{2n} = \left. \frac{1}{n!} \frac{\partial^n V_k}{\partial (\phi^2)^n} \right|_{\phi^2 = 0}$$

3

As a first calculation, consider a truncation of the serie. Just the first two terms. The beta function equations are

$$\beta_{2} = -6\lambda_{4}A_{d}Q_{d/2}\left(\frac{\partial_{t}P_{k}}{(P_{k}+2\lambda_{2})^{2}}\right)$$
(31)
$$\beta_{4} = 72\lambda_{4}^{2}A_{d}Q_{d/2}\left(\frac{\partial_{t}P_{k}}{(P_{k}+2\lambda_{2})^{3}}\right)$$
(32)

- 4 同 6 4 三 6 4

As a first calculation, consider a truncation of the serie. Just the first two terms. The beta function equations are

$$\beta_{2} = -6\lambda_{4}A_{d}Q_{d/2}\left(\frac{\partial_{t}P_{k}}{(P_{k}+2\lambda_{2})^{2}}\right)$$
(31)
$$\beta_{4} = 72\lambda_{4}^{2}A_{d}Q_{d/2}\left(\frac{\partial_{t}P_{k}}{(P_{k}+2\lambda_{2})^{3}}\right)$$
(32)

In order to look the Wilson-Fisher fixed point, we put d = 3. With $\tilde{\lambda}_2 = k^{-2}\lambda_2$ and $\tilde{\lambda}_4 = k^{-1}\lambda_4$, we obtain

$$\begin{split} \tilde{\beta}_2 &= -2\tilde{\lambda}_2 - 6\tilde{\lambda}_4 k^{-1} A_3 Q_{3/2} \left(\frac{\partial_t P_k}{(P_k + 2\lambda_2)^2} \right) \\ \tilde{\beta}_4 &= -\tilde{\lambda}_4 + 72\tilde{\lambda}_4^2 k A_3 Q_{3/2} \left(\frac{\partial_t P_k}{(P_k + 2\lambda_2)^3} \right) \end{split}$$

(日) (同) (三) (三)

Now, with $R_k(z) = (k^2 - z)\theta(k^2 - z)$ we have

$$Q_n\left(\frac{\partial_t P_k}{(P_k+a)^l}\right) = \frac{2}{n!} \frac{1}{(1+\tilde{a})^l} k^{2(n-l+1)}$$

with $\tilde{a} = k^{-2}a$.

Now, with $R_k(z) = (k^2 - z)\theta(k^2 - z)$ we have

$$Q_n\left(\frac{\partial_t P_k}{(P_k+a)^l}\right) = \frac{2}{n!} \frac{1}{(1+\tilde{a})^l} k^{2(n-l+1)}$$

with $\tilde{a} = k^{-2}a$. Then

$$\partial_t \tilde{\lambda}_2 = -2\tilde{\lambda}_2 - \frac{1}{\pi^2} \frac{2\tilde{\lambda}_4}{(1+2\tilde{\lambda}_2)^2}$$

$$\partial_t \tilde{\lambda}_4 = -\tilde{\lambda}_4 + \frac{1}{\pi^2} \frac{24\tilde{\lambda}_4^2}{(1+2\tilde{\lambda}_2)^3}$$
The non trivial fixed point is given by

Fixed Point $\tilde{\lambda}_2 = -\frac{1}{26}$ (33) $\tilde{\lambda}_4 = \frac{72\pi^2}{(13)^3}$ (34)

æ

(日) (周) (三) (三)

THANKS

æ

・ロト ・ 日 ト ・ ヨ ト ・ ヨ ト

References

- R. Percacci (2007). Asymptotic Safety. arXiv:hep-th/0709.3851
- R. Percacci. Web page. http://www.percacci.it/roberto/physics/as/index.html
- A. Codello, R. Percacci and C. Rahmede (2008). Investigating the Ultraviolet Properties of Gravity with a Wilsonian Renormalization Group Equation. arXiv:hep-th/2909
- C. Wetterich (1993). Exact Evolution Equation for the Effective Potential. Phys. Lett. B301, 90.
- S. Weinberg (1979). Ultraviolet Divergences in Quantum Theories of Gravitation. In general Relativity: An Einstein centenary survey, ed. S. Hawking and W. Israel, chapter 16, pp. 790-831; Cambridge University Press.
- M. Reuter and F. Saueressig. Functional Renormalization Group Equations, Asymptotic Safety, and Quantum Einstein Gravity.

Alejandro Soto Posada ()